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Time : 3 hours 	 Maximum Weightage : 70% 

Note : 

(i) All questions are compulsory. 
(ii) All questions carry equal weightage. 

1. Answer the following question in about 

600 words : 

Discuss the implications of integrated learning 

approach. 

OR 

Explain the types of integrated learning with 

special reference to integrated areas of 

development among children. 
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2. Answer the following question in about 
600 words : 

What is direct instruction ? Explain the 
strategies of direct instruction with examples. 

OR 

What is indirect instruction ? Discuss indirect 
instruction with special reference to inquiry 
training. 

3. Write short notes on any four of the following in 
about 150 words each : 

(a) Concept of integrated learning 

(b) Advantages of integrated learning 

(c) Sensing and intuitive learners 

(d) Concept Attainment Model (CAM) 

(e) Co-operative learning 

(f) Field visit as an experiential learning 

4. Answer the following question in about 
600 words : 

What do you understand by parallel planning for 
organisation of learning experiences ? Discuss it 
with suitable illustrations on the content 
selected from primary classes. 
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